In
T

1/o do/dp’
|_\
=

=
o
N

=
o

IIII|IIII||||I_m| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIII|||||

1071

1072

1073

Ratio to ALEPH

0.5

91 GeV ee

B
g\\
E\\
"
\\&\\
..
\\‘u
N
m ALEPH S
—A— Pythia 6.428 370 T
--%-- Pythia 6.428 378 I
Pythia 6.428 379 \5

.V*/Z. (Haldronlic)_

In-plane P, axes=Sphericity (charged)

/
IIII|IIII|IIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| [

Rivet 3.1.0, = 14M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


